Reactions of acids

- Metals

- A Mals bases | *alMalis are solable n worer
* Oxides

. Ca!l)ohtddmks

- METALS

eﬂ'ﬂ%m T H So‘rc ) M% 4 Cazg, )+H2C3Jg

*F‘(ZZH’\S kmetal J\SQppecu_ng not in exccss)
M%(.s) A ZH*CQ%) — Mat (eq) ¢ H, (q)

ey Fe
Rts) + 2H*qu,)—>

displacement  veackion/
(edox (eacton

ts)

_>
+2UNOy EOuog)L(a% ¥ “zm

—ALKAL\S .

Cag ) ,[ HO‘_)NQCX Cag) 1 Hzo ) N ewta\isation

C\I)JC/% COHT H ey Jl(*’%ﬁ W 10,

0q)
OH t H*(m) — 04y

gy ¢ O3, — NENO,

NH,OR ) 4+ HNOy ) — N NO, o+ 1,0,

= METF\\_ OXIDES



%.CQO(S) + QH&L%\ — CQUZCQQ,] 1 HzO&)
t - ot
qucs) t WHY« e — (o o) 1(.?,@.@’(0%) 1 HZOQ)
CQOCS\ t 24 "(%) —3 (a%C%) + HQOQ) neutralisation  feaction
T " 1

None of H\e neu{-ra.ll‘sq*'\or\ teactions are Yedox Yeackons since no’ch’mcj gains ot looses
electtons and or oxygen, ions afe just being moeved around.This means that W Is not
teguiered for the mekal to be above hydrogen in the feackivity series

> (ARBONATES
(Gadorate + acd —= Salt 4 ualer t carkon dioxidy
q Noy Oy, # 2ANO, | —aNalloy ¢ 8O+ €O,

X bukbles (nain ohservation because of CC)l
2- + - -
Aect gy O cag) t B cag) - dNos (ag) _)/Sblﬂztaq,) f/nhbfl{q,] * HzOaz) *COZ‘Q)
COs 9-(;”-} od* \ — H?-OUZ) X COZ )
q ROy M — M+ K0 ) + Oy,
X = ¢ =
KHCO5 o TH cag) /@V(_ —H tag) ¥ wﬁaq,)* H,0 L) COM\

ag)
4
RHCOy o + Wigyy — Hiigq +HO U) + CO,

Caq

)



